

# Annual statement

for the period 1 July 2020 to 30 June 2021

#### Account details

Product
Account ID
Account name
Adviser

BT Panorama Investments 120290572

M & E Linn Superannuation Fund Chris Jones

+61 (7) 3286 1322

#### Contents

Your statement at a glance	2
Portfolio valuation	3
Earnings and expenses	5
Transaction history	8
Complaints	16

\$807,162.39

Portfolio value as at 30 Jun 2021

For more information



1300 881 716



support@panorama.com.au

Please read the Annual Statement Guide where the information contained in this statement is further explained

Annual statement created 9 Sep 2021

# Your statement at a glance

Total portfolio opening balance 1 Jul 2020	\$605,466.87
Inflows	\$202,514.11
Deposits to Transaction account Asset transfers in	\$202,514.11 \$0.00
Outflows	-\$53,014.11
Payments from Transaction account Asset transfers out	-\$53,014.11 \$0.00
Expenses	-\$9,353.31
Fees Taxes	-\$9,353.31 \$0.00
Income on investments	\$12,327.60
Market movement	\$49,221.23
Total portfolio closing balance 30 Jun 2021	\$807,162.39

### Portfolio valuation

#### **Transaction account**

	Balance \$	Total portfolio %
Transaction account	\$274,629.16	34.03%
Total transaction account balance	\$274,629.16	34.03%

#### Listed securities

Investments	Quantity	Last price \$	Market value \$	Total portfolio %
AC8 • Auscann Group Holdings Ltd	87,622	\$0.10	\$8,674.58	1.07%
BBUS • Beta Us Str Bear Tmf Units	36,545	\$1.09	\$39,651.33	4.91%
BYE • Byron Energy Limited	97,644	\$0.10	\$9,764.40	1.21%
<b>DEG</b> • De Grey Mining Limited	23,779	\$1.24	\$29,367.07	3.64%
EQR • EQ Resources Limited	404,959	\$0.03	\$11,338.85	1.40%
FMG • Fortescue Metals Group Ltd	1,420	\$23.34	\$33,142.80	4.11%
GOLD • ETFS Metal Securities Australia Limited	593	\$218.73	\$129,706.89	16.07%
GTG • Genetic Technologies Limited	504,375	\$0.01	\$4,287.19	0.53%
LYC • Lynas Rare Earths Limited	3,492	\$5.71	\$19,939.32	2.47%
NTU • Northern Minerals Limited	100,000	\$0.03	\$3,300.00	0.41%
SHG • Singular Health Group Ltd	30,000	\$0.31	\$9,300.00	1.15%
TCL • Transurban Group (Stapled Security)	2,132	\$14.23	\$30,338.36	3.76%
TLS • Telstra Corporation Limited	22,327	\$3.76	\$83,949.52	10.40%
TSO • Tesoro Resources Limited	120,375	\$0.15	\$17,454.38	2.16%
VML • Vital Metals Limited	75,568	\$0.05	\$3,627.26	0.45%
Total listed securities balance			\$433,841.95	53.74%

### Portfolio valuation

Managed funds				
Investments	Quantity	Last price \$	Market value \$	Total portfolio %
HOW0098AU • Ardea Real Outcome Fund	103,763.4929	\$0.95	\$98,232.90	12.17%
Total managed funds balance			\$98,232.90	12.17%
Total income accrued			\$458.38	0.06%
Total portfolio value as at 30 Jun 2021		\$	807,162.39	100%

<sup>&</sup>quot;Total outstanding trades" (if applicable) are outstanding cash or/ and asset transactions due to settle post 30 June.

<sup>&</sup>quot;Total income accrued" (if applicable) includes cash and reinvested income due to settle post 30 June.

# Earnings and expenses

Income	
	Amount \$
Transaction account income	\$34.15
Term deposit interest	\$0.00
Managed portfolio income	\$0.00
Tailored portfolio income	\$0.00
Listed security income	\$5,650.62
Managed fund income	\$5,042.14
Accrued interest	\$0.00
Other income	\$1,600.69
Total income	\$12,327.60
Market movement	
	Amount \$
Realised/unrealised market movement	\$49,221.23
Total market movement	\$49,221.23

### Earnings and expenses

#### **Expenses**

Fee type	Amount \$
Administration fees	-\$1,224.29
Investment management fees	\$0.00
Expense Recovery - Legislative	-\$28.58
Portfolio management fees	\$0.00
Advice fees	-\$8,100.44
Adviser Establishment Fee	\$0.00
Advice fee	-\$8,100.44
One-off advice fee	\$0.00
Licensee advice fee	\$0.00
Taxes	\$0.00
Non-resident withholding tax	\$0.00
TFN withholding tax	\$0.00
Total expenses	-\$9,353.31

Net earnings \$52,195.52

"Accrued interest" includes interest due to settle post 30 June. Any term deposit interest reported as accrued interest on your statement last year has also been included in your opening balance this year, and as such, total term deposit interest income reported this year might be different from the cash interest received as the total interest has taken into account any accrued interest reported in last year's statement.

Changes in market value exclude any gains or losses arising from assets held outside the service. This statement does not provide the gain or loss on disposal for tax purposes and should not be relied upon in making decisions about your tax position. You should seek professional advice regarding your tax position.

The indirect costs of your investment, being the amounts that have been deducted from your investment which reduce the return on your investment but not charged to you directly as a fee, are zero.

"Total expenses" shown above may not include all the fees and costs in relation to your investments (for example it does not include any information on the fees and costs relating to any underlying managed investment (other than BT Managed Portfolios) that you access through Panorama Investments).

For further information regarding the fees and costs for each underlying managed investment offered through Panorama Investments, refer to the relevant product disclosure statement or other disclosure document, which may be obtained free of charge online by logging into your account, on request from your adviser (if you have one) or by contacting us. Please also refer to the 'Example of fees and costs' section that illustrates the combined effect of the fees and costs of this product and an underlying investment.

#### Earnings and expenses

#### Example of total fees and costs

This table illustrates the combined effect of fees and costs of Panorama Investments and the fees and costs for an investment in the Schroder Real Return CPI Plus 5% Fund – WC through Panorama Investments over a 1 year period. This example is illustrative only and the fees and costs may vary depending on your actual investment.

EXAMPLE – Schroder Real Return CPI Plus 5% Fund – WC		Balance of \$50,000 <sup>1</sup> with a contribution of \$5,000 <sup>1</sup> during the year
Cost of Panorama Investments		\$695 <sup>2</sup>
PLUS Fees and costs for an investment in Schroder Real Return CPI Plus 5% Fund – WC	0.85% (Management costs) <sup>3</sup>	And, for every \$50,000 you have in the Schroder Real Return CPI Plus 5% Fund – WC you will be charged \$425 each year.
<b>EQUALS</b> Total cost of Investing in the Schroder Real Return CPI Plus 5% Fund – WC through Panorama Investments		If you had an investment of \$50,000 at the beginning of the year and you put in an additional \$5,000 during that year, you would be charged fees of \$1,120 <sup>4</sup> .  What it costs you will depend on the investment option you choose and the fees you negotiate with your adviser.

- 1. The example above assumes that the entire account balance of \$50,000 is invested in the Schroder Real Return CPI Plus 5% Fund WC through Panorama Investments for the entire year, the value of the investment is constant over the year and that the additional \$5,000 is invested at the end of the year. Accordingly, fees and costs are calculated using the \$50,000 balance only.
- 2. The cost of Panorama Investments is based on the management costs for Panorama Investments, assuming all investments are in the Schroder Real Return CPI Plus 5% Fund WC. Please refer to the 'Fees and costs' section of the applicable Investor Guide for details of each of these fees and costs and the 'fee schedule' available through the Fees section by logging into your account. Management costs include Administration fees but do not include listed security transaction fees.
- 3. This amount includes management fees and indirect costs, which may include performance-related fees and other indirect costs (as applicable) in relation to the Schroder Real Return CPI Plus 5% Fund WC. The indirect costs are an estimate based on the fees and costs for the Schroder Real Return CPI Plus 5% Fund WC in relation to the year ended 30 June 2020. For more information regarding the fees and costs applicable to underlying investment options, please refer to the 'Fees and costs of underlying investments' in the Investor Guide.
- 4. Additional fees may apply. This example does not take into account other fees and costs that may apply to some or all of the available investments, such as Adviser contribution fees, other advice fees, transaction fees or costs or any applicable buy/sell spread charges. The actual fees and costs incurred are dependent on the investments you decide to transact in. Refer to the 'Additional explanation of fees and costs' in the Investor Guide and the 'Additional information on fees' section of the Additional Information and Terms Booklet for the information about fees and other costs that may apply.

This example is illustrative only and assumes you have chosen the Full menu. For information regarding the fees and costs of underlying managed investments, refer to the relevant product disclosure statement or other disclosure document, which may be obtained on request and free of charge from your adviser or by contacting us.

Settlement date	Trade date	Transaction type	Description	Quantity	Debit \$	Credit \$	Balance
Opening balance	e as at 1 Jul 20	20					\$390,004.7
2 Jul 2020	2 Jul 2020	Expense	Administration fee for the period 01/06/2020 to 30/06/2020		\$71.61		\$389,933.1
2 Jul 2020	2 Jul 2020	Expense	Ongoing advice fee for the period 01/06/2020 to 30/06/2020		\$553.21		\$389,379.9
6 Jul 2020	6 Jul 2020	Income	Good value payment			\$352.16	\$389,732.0
6 Jul 2020	6 Jul 2020	Income	Reversal Good value payment		\$352.16		\$389,379.9
7 Jul 2020	7 Jul 2020	Income	Good value payment			\$380.90	\$389,760.
15 Jul 2020	15 Jul 2020	Payment	Payment to M & E Linn Monthly Payment		\$3,500.00		\$386,260.
31 Jul 2020	31 Jul 2020	Income	Interest payment for Cash Management Account			\$3.29	\$386,264.
4 Aug 2020	4 Aug 2020	Expense	Administration fee for the period 01/07/2020 to 31/07/2020		\$74.79		\$386,189.
4 Aug 2020	4 Aug 2020	Expense	Ongoing advice fee for the period 01/07/2020 to 31/07/2020		\$574.51		\$385,614.
17 Aug 2020	17 Aug 2020	Payment	Payment to M & E Linn Monthly Payment		\$3,500.00		\$382,114.
31 Aug 2020	31 Aug 2020	Income	Interest payment for Cash Management Account			\$3.25	\$382,118.
2 Sep 2020	2 Sep 2020	Deposit	Direct Debit Deposit from M & E Linn			\$200,000.00	\$582,118.
3 Sep 2020	3 Sep 2020	Expense	Administration fee for the period 01/08/2020 to 31/08/2020		\$79.03		\$582,039.
7 Sep 2020	7 Sep 2020	Expense	Ongoing advice fee for the period 01/08/2020 to 31/08/2020		\$602.05		\$581,436.
15 Sep 2020	15 Sep 2020	Payment	Payment to M & E Linn Monthly Payment		\$3,500.00		\$577,936

Settlement date	Trade date	Transaction type	Description	Quantity	Debit \$	Credit \$	Balance \$
16 Sep 2020	16 Sep 2020	Buy	Buy Ardea Real Outcome Fund (HOW0098AU) for \$30,000.00.Transaction fee \$0.00.	30,671.7104	\$30,000.00		\$547,936.99
17 Sep 2020	15 Sep 2020	Buy	Buy 36,545 Beta Us Str Bear Tmf Units (BBUS) @ \$2.06. Transaction fee \$82.81.	36,545.0000	\$75,365.51		\$472,571.48
17 Sep 2020	15 Sep 2020	Sell	Sell 7,801 Pointsbet Holdings Limited (PBH) @ \$11.40. Transaction fee \$97.86.	-7,801.0000		\$88,862.07	\$561,433.55
18 Sep 2020	18 Sep 2020	Corporate Action	Rights application 1,743 Pointsbet Holdings Limited Accelerated Renoun (PBHRA) @ \$6.50		\$11,329.50		\$550,104.05
24 Sep 2020	26 Aug 2020	Income	Dividend 12,486 Telstra Corporation Limited (TLS) @ \$0.08			\$998.88	\$551,102.93
26 Sep 2020	26 Sep 2020	Expense	Expense recovery - Legislative		\$28.58		\$551,074.35
30 Sep 2020	30 Sep 2020	Income	Interest payment for Cash Management Account			\$4.54	\$551,078.89
5 Oct 2020	5 Oct 2020	Expense	Administration fee for the period 01/09/2020 to 30/09/2020		\$87.27		\$550,991.62
7 Oct 2020	7 Oct 2020	Expense	Ongoing advice fee for the period 01/09/2020 to 30/09/2020		\$825.95		\$550,165.67
12 Oct 2020	30 Sep 2020	Income	Distribution 103,763.4929 Ardea Real Outcome Fund (HOW0098AU) @ \$0.007817			\$811.14	\$550,976.81
15 Oct 2020	15 Oct 2020	Payment	Payment to M & E Linn Monthly Payment		\$3,500.00		\$547,476.81
22 Oct 2020	20 Oct 2020	Buy	Buy 3,492 Lynas Corporation Limited (LYC) @ \$2.86. Transaction fee \$12.50.	3,492.0000	\$9,999.62		\$537,477.19
22 Oct 2020	20 Oct 2020	Buy	Buy 593 ETFS Metal Securities Australia Limited (GOLD) @ \$252.62. Transaction fee \$164.79.	593.0000	\$149,969.38		\$387,507.81
23 Oct 2020	19 Oct 2020	Income	Distribution 103,763.4929 Ardea Real Outcome Fund (HOW0098AU) @ \$0.025509			\$2,646.94	\$390,154.75
31 Oct 2020	31 Oct 2020	Income	Interest payment for Cash Management Account			\$4.25	\$390,159.00

Settlement date	Trade date	Transaction type	Description	Quantity	Debit \$	Credit \$	Balance \$
4 Nov 2020	4 Nov 2020	Expense	Administration fee for the period 01/10/2020 to 31/10/2020		\$99.86		\$390,059.14
6 Nov 2020	6 Nov 2020	Expense	Ongoing advice fee for the period 01/10/2020 to 31/10/2020		\$850.95		\$389,208.19
16 Nov 2020	16 Nov 2020	Payment	Payment to M & E Linn Monthly Payment		\$3,500.00		\$385,708.19
30 Nov 2020	30 Nov 2020	Income	Interest payment for Cash Management Account			\$3.19	\$385,711.38
3 Dec 2020	3 Dec 2020	Expense	Administration fee for the period 01/11/2020 to 30/11/2020		\$106.30		\$385,605.08
7 Dec 2020	7 Dec 2020	Expense	Ongoing advice fee for the period 01/11/2020 to 30/11/2020		\$804.45		\$384,800.63
10 Dec 2020	8 Dec 2020	Buy	Buy 9,841 Telstra Corporation Limited (TLS) @ \$3.05. Transaction fee \$33.02.	9,841.0000	\$30,048.07		\$354,752.56
10 Dec 2020	8 Dec 2020	Buy	Buy 1,420 Fortescue Metals Group Ltd (FMG) @ \$21.06. Transaction fee \$32.90.	1,420.0000	\$29,938.10		\$324,814.46
10 Dec 2020	8 Dec 2020	Buy	Buy 2,132 Transurban Group (Stapled Security) (TCL) @ \$14.04. Transaction fee \$32.93.	2,132.0000	\$29,966.21		\$294,848.25
10 Dec 2020	8 Dec 2020	Buy	Buy 87,622 Auscann Group Holdings Ltd (AC8) @ \$0.27. Transaction fee \$25.54.	87,622.0000	\$23,245.37		\$271,602.88
10 Dec 2020	8 Dec 2020	Buy	Buy 404,959 EQ Resources Limited (EQR) @ \$0.04. Transaction fee \$18.09.	404,959.0000	\$16,466.24		\$255,136.64
15 Dec 2020	15 Dec 2020	Payment	Payment to M & E Linn Monthly Payment		\$3,500.00		\$251,636.64
31 Dec 2020	31 Dec 2020	Income	Interest payment for Cash Management Account			\$2.51	\$251,639.15
6 Jan 2021	6 Jan 2021	Expense	Administration fee for the period 01/12/2020 to 31/12/2020		\$120.32		\$251,518.83

Settlement date	Trade date	Transaction type	Description	Quantity	Debit \$	Credit \$	Balance \$
8 Jan 2021	8 Jan 2021	Expense	Ongoing advice fee for the period 01/12/2020 to 31/12/2020		\$810.34		\$250,708.49
11 Jan 2021	31 Dec 2020	Income	Distribution 103,763.4929 Ardea Real Outcome Fund (HOW0098AU) @ \$0.007674			\$796.31	\$251,504.80
15 Jan 2021	15 Jan 2021	Payment	Payment to M & E Linn Monthly Payment		\$3,500.00		\$248,004.80
31 Jan 2021	31 Jan 2021	Income	Interest payment for Cash Management Account			\$2.13	\$248,006.93
1 Feb 2021	1 Feb 2021	Payment	Payment to Sapphire Accountant 2020 Audit fee		\$2,450.00		\$245,556.93
1 Feb 2021	1 Feb 2021	Payment	Payment to M & E Linn 2019 Audit Fees		\$2,750.00		\$242,806.93
3 Feb 2021	3 Feb 2021	Expense	Administration fee for the period 01/01/2021 to 31/01/2021		\$125.27		\$242,681.66
5 Feb 2021	5 Feb 2021	Expense	Ongoing advice fee for the period 01/01/2021 to 31/01/2021		\$815.96		\$241,865.70
8 Feb 2021	8 Feb 2021	Deposit	Direct Credit from ATO , ATO008000014411140			\$2,514.11	\$244,379.81
10 Feb 2021	10 Feb 2021	Payment	Payment to M & E Linn Tax refund		\$2,514.11		\$241,865.70
15 Feb 2021	15 Feb 2021	Payment	Payment to M & E Linn Monthly Payment		\$3,500.00		\$238,365.70
16 Feb 2021	30 Dec 2020	Income	Dividend 2,132 Transurban Group (Stapled Security) (TCL) @ \$0.15			\$319.80	\$238,685.50
28 Feb 2021	28 Feb 2021	Income	Interest payment for Cash Management Account			\$1.84	\$238,687.34
3 Mar 2021	1 Mar 2021	Buy	Buy 30,000 Singular Health Group Ltd (SHG) @ \$0.60. Transaction fee \$19.64.	30,000.0000	\$17,869.64		\$220,817.70

Settlement date	Trade date	Transaction type	Description	Quantity	Debit \$	Credit \$	Balance \$
3 Mar 2021	3 Mar 2021	Expense	Administration fee for the period 01/02/2021 to 28/02/2021		\$112.83		\$220,704.87
4 Mar 2021	2 Mar 2021	Buy	Buy 75,568 Vital Metals Limited (VML) @ \$0.07. Transaction fee \$12.50.	75,568.0000	\$4,999.99		\$215,704.88
5 Mar 2021	5 Mar 2021	Expense	Ongoing advice fee for the period 01/02/2021 to 28/02/2021		\$727.08		\$214,977.80
8 Mar 2021	4 Mar 2021	Buy	Buy 415,625 Genetic Technologies Limited (GTG) @ \$0.01. Transaction fee \$12.50.	415,625.0000	\$4,168.75		\$210,809.05
8 Mar 2021	4 Mar 2021	Buy	Buy 88,750 Genetic Technologies Limited (GTG) @ \$0.01. Transaction fee \$12.50.	88,750.0000	\$944.38		\$209,864.67
15 Mar 2021	15 Mar 2021	Payment	Payment to M & E Linn Monthly Payment		\$3,500.00		\$206,364.67
17 Mar 2021	15 Mar 2021	Sell	Sell 5,272 Pointsbet Holdings Limited (PBH) @ \$14.08. Transaction fee \$81.64.	-5,272.0000		\$74,136.09	\$280,500.76
17 Mar 2021	15 Mar 2021	Sell	Sell 872 Pointsbet Holdings Limited Options Expiry 30- (PBHO) @ \$4.51. Transaction fee \$12.50.	-872.0000		\$3,921.10	\$284,421.86
24 Mar 2021	1 Mar 2021	Income	Dividend 1,420 Fortescue Metals Group Ltd (FMG) @ \$1.47			\$2,087.40	\$286,509.26
26 Mar 2021	24 Feb 2021	Income	Dividend 22,327 Telstra Corporation Limited (TLS) @ \$0.08			\$1,786.16	\$288,295.42
31 Mar 2021	31 Mar 2021	Income	Interest payment for Cash Management Account			\$2.11	\$288,297.53
7 Apr 2021	7 Apr 2021	Expense	Administration fee for the period 01/03/2021 to 31/03/2021		\$119.96		\$288,177.57
9 Apr 2021	9 Apr 2021	Expense	Ongoing advice fee for the period 01/03/2021 to 31/03/2021		\$782.00		\$287,395.57
12 Apr 2021	31 Mar 2021	Income	Distribution 103,763.4929 Ardea Real Outcome Fund (HOW0098AU) @ \$0.007592			\$787.75	\$288,183.32

Settlement date	Trade date	Transaction type	Description	Quantity De	bit\$	Credit \$	Balance \$
15 Apr 2021	15 Apr 2021	Payment	Payment to M & E Linn Monthly Payment	\$3,50	00.00		\$284,683.32
30 Apr 2021	30 Apr 2021	Income	Interest payment for Cash Management Account			\$2.36	\$284,685.68
5 May 2021	5 May 2021	Expense	Administration fee for the period 01/04/2021 to 30/04/2021	\$11	1.87		\$284,573.81
7 May 2021	7 May 2021	Expense	Ongoing advice fee for the period 01/04/2021 to 30/04/2021	\$75	3.94		\$283,819.87
17 May 2021	17 May 2021	Payment	Payment to M & E Linn Monthly Payment	\$3,50	00.00		\$280,319.87
20 May 2021	20 May 2021	Income	Good value payment		\$1	,219.79	\$281,539.66
31 May 2021	31 May 2021	Income	Interest payment for Cash Management Account			\$2.41	\$281,542.07
3 Jun 2021	3 Jun 2021	Expense	Administration fee for the period 01/05/2021 to 31/05/2021	\$11	5.18		\$281,426.89
4 Jun 2021	4 Jun 2021	Payment	Payment to M & E Linn Capstone Financial	\$3,30	00.00		\$278,126.89
15 Jun 2021	15 Jun 2021	Payment	Payment to M & E Linn Monthly Payment	\$3,50	00.00		\$274,626.89
30 Jun 2021	30 Jun 2021	Income	Interest payment for Cash Management Account			\$2.27	\$274,629.16

Settlement date	Trade date	Transaction type	Description	Quantity	Debit \$	Credit \$	Balance \$
23 Aug 2021	29 Jun 2021	Income	Dividend 2,132 Transurban Group (Stapled Security) (TCL) @ \$0.215			\$458.38	\$275,087.54
Subtotal					\$497,030.34	\$382,113.13	

#### Closing balance as at 30 Jun 2021

\$275,087.54

Transactions are reflected in this statement as at the date the transaction occurred. Dividends or distributions may not be reflected in this statement until they are credited to your account. This statement may not include other recent transactions that have not been processed.

Withholding tax transactions, that apply to dividends or distributions that are not settled at the time of statement generation, are not included in this statement and can be viewed online when the year-end tax transaction is finalised.

### Transaction history – Non cash

Settlement date	Trade date	Security code	Transaction type	Description	Quantity	Debit \$	Credit \$
9 Jul 2020	9 Jul 2020	TSO	Corporate Action	Rights application 13,375 Tesoro Resources Limited Accelerated Non-Reno (TSOAI) @ \$0.06	13,375		\$802.50
9 Jul 2020	9 Jul 2020	TSOAI	Corporate Action	Rights application 13,375 Tesoro Resources Limited Accelerated Non-Reno (TSOAI) @ \$0.06	-13,375		
11 Sep 2020	9 Sep 2020	PBHRA	Corporate Action	Right 11,330 Pointsbet Holdings Limited (PBH) @ 6.5:1	1,743		
1 Oct 2020	1 Oct 2020	PBHRA	Corporate Action	Rights application 1,743 Pointsbet Holdings Limited Accelerated Renoun (PBHRA) @ \$6.50	-1,743	\$13,072.50	
1 Oct 2020	1 Oct 2020	РВНО	Corporate Action	Rights application 1,743 Pointsbet Holdings Limited Accelerated Renoun (PBHRA) @ \$6.50	872		
1 Oct 2020	1 Oct 2020	PBH	Corporate Action	Rights application 1,743 Pointsbet Holdings Limited Accelerated Renoun (PBHRA) @ \$6.50	1,743		\$11,329.50
11 Feb 2021	11 Feb 2021	HOW0098AU	Transfer	Position Transfer on M & E Linn Superannuation Fund Direct Holdings	103,763.4929		\$99,083.76
11 Feb 2021	11 Feb 2021	HOW0098AU	Transfer	Position Transfer on M & E Linn Superannuation Fund Direct Holdings	-103,763.4929	\$99,083.76	

Transactions are reflected in this statement as at the date the transaction occurred. Dividends or distributions may not be reflected in this statement until they are credited to your account. This statement may not include other recent transactions that have not been processed.

#### Complaints

If you have a complaint, contact our dedicated Customer Solutions team on 1300 881 716 from 8.00am to 6.30pm, Monday to Friday (Sydney time) or write to us at GPO Box 2675, Sydney NSW 2001. If an issue has not been resolved to your satisfaction, you can lodge a complaint with the Australian Financial Complaints Authority (AFCA). AFCA provides fair and independent financial services complaint resolution that is free to consumers.

Online: www.afca.org.au Email: info@afca.org.au Phone 1800 931 678

Mail: Australian Financial Complaints Authority GPO Box 3 Melbourne VIC 3001

Page	16	$\cap f$	16

#### Disclaimer

The information contained in this statement is given in good faith and has been derived from sources believed to be accurate at the statement request date. However, it is general information only and should not be considered a comprehensive statement on any matter nor relied upon as such. BT Portfolio Services Ltd ABN 73 095 055 208 AFSL 233715 (BTPS) operates Panorama Investments and BT Invest. Westpac Financial Services Ltd ABN 20 000 241 127 AFSL 233716 (WFSL) is the responsible entity and issuer of interests in BT Managed Portfolios. Westpac Banking Corporation ABN 33 007 457 141 AFSL and Australian credit licence 233714 (Westpac) is the issuer of the Cash Management Account (BT CMA). Together, these products are referred to as the Panorama products.